

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN GERMAN EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000001
 Roll No. 2551261456
 Regn. No. 25-DEO-1456

Name : HARDEEP RANA
 Father's Name : SHAKTI RANA
 Mother's Name : SONIA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPG-101 COMMUNICATIVE GRAMMAR	22 9	20AG	050	B+	7	02.0	14.0
2	CPG-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	22 9	20AG	050	B+	7	02.0	14.0
	TOTAL	0062		0100			4.0	028.0
	GRAND TOTAL	0062		0100			4.0	28.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN GERMAN EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000002
 Roll No. 2551261458
 Regn. No. 25-DEO-1458

Name : SATYA PRAKASH
 Father's Name : AMAR SINGH YADAV
 Mother's Name : BD YADAV
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPG-101 COMMUNICATIVE GRAMMAR	23 10	20AG	050	A	8	02.0	16.0
2	CPG-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	23 10	20AG	050	A	8	02.0	16.0
	TOTAL	0066		0100			4.0	032.0
	GRAND TOTAL	0066		0100			4.0	32.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN GERMAN EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000003
 Roll No. 2551261460
 Regn. No. 25-DEO-1460

Name : AADARSH NARWAL
 Father's Name : JASBIR NARWAL
 Mother's Name : PINKI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPG-101 COMMUNICATIVE GRAMMAR	29 9	20AG	050	A+	9	02.0	18.0
2	CPG-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	29 9	20AG	050	A+	9	02.0	18.0
	TOTAL	0076		0100			4.0	036.0
	GRAND TOTAL	0076		0100			4.0	36.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN GERMAN EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000004
 Roll No. 2551261461
 Regn. No. 25-DEO-1461

Name : JYOTI BALOURIA
 Father's Name : TILAK RAJ
 Mother's Name : MISHA BALOURIA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPG-101 COMMUNICATIVE GRAMMAR	32 9	20AG	050	A+	9	02.0	18.0
2	CPG-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	32 9	20AG	050	A+	9	02.0	18.0
	TOTAL	0082		0100			4.0	036.0
	GRAND TOTAL	0082		0100			4.0	36.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN GERMAN EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000005
 Roll No. 2551261463
 Regn. No. 25-DEO-1463

Name : URVANSU
 Father's Name : BHUPENDER
 Mother's Name : ANISHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPG-101 COMMUNICATIVE GRAMMAR	25 11	20AG	050	A	8	02.0	16.0
2	CPG-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	25 11	20AG	050	A	8	02.0	16.0
	TOTAL	0072		0100			4.0	032.0
	GRAND TOTAL	0072		0100			4.0	32.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN GERMAN EXAM : JUN- 2025
 (CBCS-CDOE)

Name : ROOP LAL
 Father's Name : DHARAM PAL
 Mother's Name : KRISHNA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPG-101 COMMUNICATIVE GRAMMAR	34 12	20AG	050	O	10	02.0	20.0
2	CPG-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	34 12	20AG	050	O	10	02.0	20.0
	TOTAL	0092		0100			4.0	040.0
	GRAND TOTAL	0092		0100			4.0	40.0

RESULT : PASSED AND HAS OBTAINED : SGPA 10.00

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN GERMAN EXAM : JUN- 2025
 (CBCS-CDOE)

Name : NISHA KATARIA
 Father's Name : RAMESH KATARIA
 Mother's Name : INDIRA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPG-101 COMMUNICATIVE GRAMMAR	33 9	20AG	050	A+	9	02.0	18.0
2	CPG-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	33 9	20AG	050	A+	9	02.0	18.0
	TOTAL	0084		0100			4.0	036.0
	GRAND TOTAL	0084		0100			4.0	36.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN GERMAN EXAM : JUN- 2025
 (CBCS-CDOE)

Name : AMAN KUMAR
 Father's Name : RAJ KUMAR
 Mother's Name : SHEELA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPG-101 COMMUNICATIVE GRAMMAR	34 11	20AG	050	O	10	02.0	20.0
2	CPG-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	34 11	20AG	050	O	10	02.0	20.0
	TOTAL	0090		0100			4.0	040.0
	GRAND TOTAL	0090		0100			4.0	40.0

RESULT : PASSED AND HAS OBTAINED : SGPA 10.00

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____